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BACHELOR'S DEGREE IN LIBRARY AND 
INFORMATION SCIENCE 

Term-End Examination 

June, 2014 

BLS-6 : INFORMATION SERVICES 

Time : 3 hours 	 Maximum Marks : 70 

Note : Answer all questions. All questions carry equal 
marks. Illustrate your answers with suitable 
examples and diagrams, wherever necessary. Write 
the relevant question number before writing the 
answer. 

1.1 Government activities and research generate 
useful information. Discuss with examples. 

OR 

1.2 Technology enables provision of different types 
of information services in a modern library. 
Explain. 

2.1 Discuss the growth and development of 
documentation and information centres in India. 

OR 

2.2 Explain the need and purpose of reference 
service in a special library. 

BLS-6 	 1 	 P.T.O. 



3.1 What do you understand by 'responsive 
reference service' ? Describe its different types. 

OR 

3.2 Define the concept of 'information behaviour'. 
Differentiate between verbal and actual 
behaviour of users. 

4.1 What do you understand by 'Current Awareness 
Service (CAS) ? Discuss its various types. 

OR 

4.2 Explain the concept of document delivery service 
(DDS). Describe the DDS provided by NISCAIR 
(previously INSDOC). 

5.0 Write short notes on any three of the following 
(in about 300 words each) : 

(a) Value of information services 

(b) User studies 

(c) Referral service 

(d) Online searching 

(e) ADONIS 
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